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Where one wrote Shem from Shimon — PYRRR aw ans vn

OVERVIEW

The X nx initially ruled that if one intended to throw an object eight nmR, but
actually threw four mmR, he is certainly 21 for it is no different that ow 2an>
Twawn,! where he is 2°1. Our Mo0N discusses this analogy.
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This certainly (of comparing '7 P31 ' P19 11201 to Pynwn aw 2and) is not

maintained, as the X923 concludes -
- 499 5939 KY XaNY 1Y ' 5915 ON 31111 %297 RNYIIN SUN 299 75997 33) N)*a9)

And also 821929 who asked >wX 29 regarding the statement of >''9, saying ‘if he

wants it for this he does not want it for that, so this x1°27 also -
- YT 7599 M1 NY M7 INT PNIYN OV ANaY 31T XYT 920

Maintains that '7 P31 'n 21715 201 is not similar to Nwy»wn» aw ans, for if it is
similar, X1°27 would not have asked anything -
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For let’s assume that he wanted it to land after n»X 'T (which can be compared to

wanting to write 11VIW) -
= 5SPynwYn v ans »4n NVIIP M JY DA9N MY NTNNA NIV

so when it lands in the beginning of the 2"'777 through 772%p he ‘wrote Jwnw:n ow’ -

!'If one intended to write the word 11wnw, as soon as he writes the word ow (from w»w) he is 271, since oW is also a
word. Similarly here he is 2 if he threw it only nwaK "7, even though his intention was to throw it N1 11, for nR '7
is also prohibited.
2 The ®X7m3, on this Ty, differentiates that by NWwnwn ow he must write ow in order to write 1Wnw (so he always
intended to write aw [and continue to finish Nnw»w]); his intent was (partially) fulfilled, however when one is 3™5n1
'm P11, it certainly does not need to land '7 71027 (and he never wanted it to land '7 7102). His intent was never
fulfilled.
39"y maintains in a case where one threw 1"77% *"77 and it traveled 1"772 Nk '7 that he is 21 twice (according to
ORI MR 370 27), once for ARXYT and once for 1"772 NMnK '7 72w (because " maintains %7 AANAY MO VPP, SO
as soon as it entered the airspace of the 7"77 he is 211 for AR¥7 [it is considered as if it landed] and when it travels
7"7172 X"7 he is 21 again for 1"7172 X"7 N72YA).
4 X127 asked that if the thrower wanted it to land at the end of X '7, he did not want it to land at the beginning of
the "7 (so there is no 7v2p); he is not 21 for nwX '7 n72avn, and if he wanted it to land immediately in the
beginning of the 1"777, he again is not 217 for NMMKR "7 N72¥7, since he did not want it to go that far.
SIf'7 P 'm P1712 10na s the same as Nwawn ow 20> (even though he did not want it to land '7 7102), so when he
threw it '7 7107 1"77 °"77%, as soon as it enters the 1" he is already 21 on account of 7v%p (even though he did
not want it to land there, nevertheless we are saying here that when one throws a longer distance it includes the
shorter distance). However if we distinguish between '7 P11 ' 1715 11501 that it is not comparable to 1wnw» ow and,
since there is no intent for nnX '7, therefore here too, by *", if his intent was to throw it 1"772 MR '7, we cannot say
7u1?p when it enters the 1", for he had no intent that it should land there. See ‘Thinking it over’.
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And when it went the additional n¥aX '7 he should be liable for them also, since
his initial intent was fulfilled —

moon now clarifies an additional difficulty:
= YYN 299 N9 N9 9INT 1N IND 07U 9N 290D

And therefore (according to what 19010 said previously) we will understand what

the X922 said, ‘is this not what X1°29 said to >wX 29°; which is seemingly odd -
= N3Y29T NN MININD 19 N0 NYY

For the X713 should not have mentioned the argument of X929, but merely state

that logically he is Mp, since it did not land where he intended’ -
$PYNRYN DY AN 591 19 VIV NPIY NN NIV NNDY NNIYW NON

Rather the reason the X 13 cited X1°27 was because the X3 wanted to disprove
this which was so obvious to him that by '7 P71 'n P1712 11201 he is 2°11 because it

is similar to JIw@mwR aw ans, so the X3 counters that from s'X1°17 question we see that we
cannot compare the cases of '7 PN ' P17 1501 to NYHWn oW and.

SUMMARY
The X773 cites X1°27 here to show that X1°27 also maintains that one cannot compare
'7 271 ' 21D 771003 to YRR aw and.

THINKING IT OVER

Perhaps we can distinguish® that '7 P71 'n 1717 17501 is indeed not comparable to
TvPwn o and because by "M M he did not want it to go '7, and it need not go 7 (as
opposed to Nwnrwn ow [where he must write aw]). However by 92w1 2"537% 2" por
3"792 nak ', if we maintain 7012p, so seemingly when he wants it to land '7 71027
it must also land immediately in the beginning of the 1"71 on account of VY9, so
seemingly it is similar to 77v»w»n ow. Even if X1°27 maintains that '71 ' 1s not like aw
Nwnwn, it does not explain his question on ", for there it is similar?”

6 The X »3 shortly, when presented with the query of 3 ' PN "7 P12 1100, replied, 279 R1P27 7 RT 1177 WY
bWR.
7 See R"wn.
8 See footnote # 5.
9 See X"v1 1 and 2p¥> NP,
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